C:# Adding and Subtracting 10s and 100s Name:

Fill in the blanksfor each problem.

650 + 10 = 648-10= 782 +100 = 772-100 =
274 +10 = 712-10= 647 + 100 = 599 - 100 =
898+ 10 = 214-10= 8+ 100 = 459 - 100 =
871+ 10 = 762-10= 572 + 100 = 287 - 100 =
800 + 10 = 471-10= 861 + 100 = 818 - 100 =
201+ 10 = 41-10= 605 + 100 = 344-100 =
916 + 10 = 419-10= 63+ 100 = 111- 100 =
576 + 10 = 756- 10 = 467 +100 = 203- 100 =
106 + 10 = 217-10= 501 + 100 = 290 - 100 =
927 + 10 = 123-10= 819 + 100 = 813- 100 =
768+ 10 = 91-10= 121 +100 = 753-100 =
240+ 10 = 497-10= 108 + 100 = 912 - 100 =
979+ 10 = 964 - 10 = 483 + 100 = 883 - 100 =
370+ 10 = 498-10= 845 + 100 = 906 - 100 =
838+ 10 = 184-10= 172 + 100 = 658 - 100 =
334+10= 568 - 10 = 387 +100 = 393-100=
920+ 10 = 14-10= 787 +100 = 328-100=
764+ 10 = 844-10= 798 + 100 = 661 - 100 =
341+10= 781-10= 437 +100 = 842 - 100 =
468 +10 = 972-10= 630 + 100 = 991 - 100 =
476 + 10 = 528-10= 579 + 100 = 120 - 100 =
159 + 10 = 411-10= 251 + 100 = 337-100=
507 + 10 = 84-10= 876 + 100 = 516 - 100 =
982 + 10 = 458-10= 494 +100 = 448 - 100 =
338+10= 298-10= 232 +100 = 578 - 100 =
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Adding and Subtracting 10s and 100s Name: Answer Key
Fill in the blanksfor each problem.
650+10=_ 660 648-10= 638 782+100= 832 772-100= 672
274+10= 284 712-10= 702 647 +100= 747 599-100= 499
898+10=_ 908 214-10= 204 8+100=_ 108 459-100= 359
871+10= 881 762-10= 752 572+100= 672 287-100= 187
800+10= 810 471-10= 461 861+100= 961 818-100=_ 718
201+10=_ 211 41-10= 31 605+ 100=_ 705 344-100= 244
916 +10= 926 419-10= 409 63+100= 163 111-100= 11
576 +10= 586 756-10= 746 467 +100= 567 203-100= 103
106 + 10= 116 217-10=_ 207 501+100= 601 290-100=_ 190
927 +10= 937 123-10=_ 113 819+100= 919 813-100= 713
768+10= 778 91-10= 81 121+100=_ 221 753-100= 653
240+10= 250 497-10= 487 108 +100= 208 912-100= 812
979+10=_ 989 964-10= 954 483+100= 583 883-100= 783
370+10=_ 380 498-10= 488 845+100= 945 906-100= 806
838+10= 848 184-10= 174 172+100= 272 658-100= 558
334+10= 344 568-10=_ 558 387+100= 487 393-100=_ 293
920+10=_ 930 14-10=_ 4 787+100=_ 887 328-100=_ 228
764+10= 774 844-10= 834 798 +100= 898 661-100=_ 561
341+10= 351 781-10=_ 771 437+100= 537 842-100= 742
468+10= 478 972-10= 962 630+100= 730 991-100= 891
476 +10= 486 528-10= 518 579+100= 679 120-100=__ 20
159+10=_ 169 411-10= 401 251+100= 351 337-100= 237
507 +10= 517 84-10=_ 74 876+100= 976 516-100= 416
982+10=_ 992 458-10= 448 494+100= 594 448-100= 348
338+10=_ 348 298-10= 288 232+100= 332 578-100= 478
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